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Example 4
19111305504 i}
Describe the sequence. Find the first term and the common difference.

infinite sequence a, =9 d=2

Example 5
Create a finite sequence of five terms with By 10and d =-1.4.

{10, 10-1.4,10-2(1.4), 10 - 3(1.4), 10 - 4(1.4)}
or{10, 8.6, 7.2, 5.8, 4.4}

Practice Problems 1
Write the first four terms, given a, and d.

Iz a]=3,d=5 2 a, =250,d=-25

3. a]=81,d=]9.6 4. a]=—2,d=12/3
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Notice the way we write the pattern to solve for.cach term. We begin with the -
first term, and then add the difference times the number of the next term in the
sequence. In practice problem #1, the first term in the sequence is 3, the second
term is 3 plus the difference 5, and the third term is 8 plus 5, which is the same
as 3 + 5(2).

Example 6
Write the first four terms of {an} ={2n - 7}. Start with n = 1.

{an} = {a] ’ azr 33, a4}

{a }=1{2(1)-7,22)-7,23)-7,2(4) - 7}
fa }={5,-3,-1,1}

a1=—5,d=2

Example 7
Write the first four terms of {an} ={5 - 3n}

la }=1a;, a,, a3, a,}

{a }=1{5-3(1),5-3(2),5-3@3),5- 34}
{an} = {2) -1 ) —41 _7}

Practice Problems 2
Write the first four terms of each sequence.

1 {an}={n+50} 2 {an}={—n—6}

3. {an} ={4n + 1} 4, {an} ={-5n + 20}
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Example 9
Find the eighth term of Sg, with a, = 2 and d = -3.

S,=a +(n—1)d=(2)+(8—1)(—3)=2—21=—19

8 1
Find it the long way to confirm: {2, -1, -4,-7,-10, -1 3,-16, =19}

Example 10
Find the 15th term with g 4.3, and a, = 51

Ifa] =4.3anda2=5.1,thend=a2—a] =5.1-43=.8

S15=a1 +(n-1)d=@4.3)+(15-1)(.8)=43+11.2=15.5

Practice Problems 3

1. Find the 8th term with a, = 9.6,and d =12.1.

\fz—,anda2=4\/?.

2. Find the 10th term with a,

1 o
——Z—,anda2—1

3. Find the 12th term with a, %

4. Find the 20th term with 0y 25, and a, = 10.
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Practice Problems 4

You may use either A or B to solve these problems. The solutions below
are done with formula B and some of the solutions for the student text
are done with formula A, but either is acceptable.

L 1 : k
1. 2. Y A +3
k=1 k=1
10 5 20
e 4 % {s5p-20)
M=1 R=0
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